
MIMI B

Recommended

assembly by 2 person



Use only mattresses

with thickness of 8-12 cm

IMPORTANT
Beds are for sleeping,

not for jumping

Prohibit more than

one person on bed

Bed parts have 2 years

warranty in normal use

Wooden parts should be cleaned with a dry cloth and ordinary

mild detergents for the care and cleaning of wooden parts

Use the ladder to get in and out of the upper bed

Do not hang on structural elements

Design and execution in accordance with the standard

PN-EN 747-1+A1:2015-08

UPPER BED

LOWER BED

MAX

60
KG

MAX

95
KG



1) Make sure there is free space for installation.

2) Before fully unpacking, please measure the elements whether they match the order.

3) After unpacking the elements from the cartons please check the completeness of the whole

set with the assembly instruction. - If you check and find that something is missing

- let us know, we will check the packaging and when it is necessary we will send the missing parts.

4) Think about whether you will need help with the assembly, if you find it necessary,

find a assistant. (We recommend two people to assemble the bunk beds).

5) We recommend installing wooden pins on a hard flat surface

(you can use the cardboard from the packaging).

6) When using a hammer to hammer in the woodpins, remember not to use too much force,

and the element should be placed on a flat hard surface .

PLEASE READ BEFORE ASSEMBLY:

REMEMBER!
NEVER HAMMER THE WOODPINS TO THE PARTS IN THE AIR



BDP

BGP

N1
BT

N2

N3

1

MIMI B
N1 x1 BGP x1

N2 x1 BDP x1

N3 x1 BT x2

N4 x1

N4

CHECK - COMPLETE SET



BKO

BKP

ZS LDS

ST

LKS

SCH

DR

S50
M6X50

W
25

M4X25
2

TRZ
M5X35

Mi

K8
M8x35

MIMI B
BKO x4

BKP x4

ZS x2

DR x2

SCH x4

LKS* x6/x8

ST x28-32

LDS x8

SCREWS
PL x56-64

S50 x20

W25 x24

TRZ x104

K8 x104

Mi x104

*8x LKS - only for size 100
W

13
M4X13

PL



TRZ
M5x35

K8
M8x35

3

The same situation for element

BT

x2

K8

TRZ

BGP BDP



Mi

4

Recommendation

Assembly on the floor

The same situation for element

N4

N3
BT

BT

Mi

BGP BDP N1 N2



Only for size 100 cm

TRZ
M5x35

K8
M8x35

5

K8

TRZ



6

Mi

The same situation on the

other side

BKO
Mi

BKP

BKP

ZS



7

Only for size 100 cm

Mi

LKS

LKS

LKS

Mi



Before assembly, see pages 3, 4, 5

8
Mi

BDP

Mi

N2
BGP

N1



9

S50
M6X50

S50
S50

DR

SCH

SCH



10

W
25

M4X25

The same situation

on the other side

LDS

LDS

W25



11

PL

Important!
Install the plastic caps before assembling the ST

spring slats to the bed frame.

ST

PL

ST

ST


	f40eb990b9dd14390065c5991dd01d746939377621eef75064f2875d2f7d213b.pdf
	92363e37ef1b8435d0f7aceb3470a5c5249d761e51af88216c1944f11b70f96c.pdf
	dec64c22269993e3e9eef16ef138073fc9031a19b038a0d8fad2fa96352620ec.pdf
	f40eb990b9dd14390065c5991dd01d746939377621eef75064f2875d2f7d213b.pdf

